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Questions:



1.  Define any key terms that you feel are important in answering the following question as they are defined in the textbook and explain, in your own words what those definitions mean, and then thoroughly analyze each of the following changes in the market for loanable funds to answer the these questions    Use the diagrams below, resizing them as necessary, to illustrate your analysis in explaining what happens to private savings, private investment spending, and the rate of interest if the following events occur. Assume the economy is closed (no transactions are made with foreign countries).

My Definitions:
Private savings – is disposable income subtracting consumption.
private investment spending – this is spending by firms rather by our government.
rate of interest – has to do with the rate or amount (of money) that a borrower pays to a lender.
economy is closed – just like the term says, it’s an economy that is closed to other economies and the imports and exports thereof; it is self-sufficient economy.
a. The government reduces the size of its deficit to zero (10 points).
If the government were to reduce its deficit to zero (the government not borrowing any money), there would be a decrease in the demand for loanable funds equal to the reduction in the size of the total deficit.

What happens to the rate of interest?
The interest rate would fall in response to the decrease in demand.

What happens to Investment Spending?
Private investment spending will increase due to the fall in interest rates.

What happens to the Private Savings?
There will be a decrease in private savings.
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b. At any given interest rate, consumers decide to save more.  Assume the budget balance is zero (10 points).

If consumers decide to save more, there will be an increase in the supply of loanable funds.  In my diagram, you can see this represented by the rightward shift of the supply curve – from S1 to S2.   
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What happens to the rate of interest?
The increase in the supply of loanable funds reduces the equilibrium interest rate – from r1 to r2.
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What happens to Private Investment Spending?
In response to the lower interest rate, private investment spending will rise – from Q1 to Q2.
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c. At any given interest rate, businesses become very optimistic about the future profitability of investment spending. Assume the budget balance is zero (10 points).
Higher investment spending at any given interest rate leads to an increase the demand for loanable funds.

What happens to the rate interest?
The increase in the demand for the loanable funds raises the equilibrium rate – from r1 to r2.
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What happens to Private Savings?
In response to the higher interest rate, private saving will rise – from Q1 to Q2.
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2.  Define any key terms that you feel are important in answering the following question as they are defined in the textbook and explain, in your own words what those definitions mean, and then thoroughly analyze each situation to answer the following questions.  

My Definitions:
aggregate demand – is total amount or sum of goods and services that are demanded by an economy. 
short-run aggregate supply – basically shows the total planned output of prices that can change, but variables like wage and technology stay constant.
long-run aggregate supply curves – basically shows prices and the average wages that can actually change.
short-run effects – because the economy is self-correcting in the long run, you have to be very leery about trying to make adjustments.  But if you do, expect small boosts in the economy due to increased spending; this is temporary.
long-run effects – if you do make adjustments, in short-run, they are temporary; however these interventions could have long lasting negative effects, like inflation, and ultimately lead to a recession.
aggregate price level – the final price of all goods and services.
aggregate output – whereas aggregate price is the total price, aggregate output is just the total amount of all goods and services produced by an economy.
Using aggregate demand, short-run aggregate supplies, and long-run aggregate supply curves, explain the process and causes by which each of the following economic events will move the economy from one long-run macroeconomic equilibrium to another. Use the diagrams below, resizing them as necessary, to illustrate your analysis. In each case, what are the short-run and long-run effects on the aggregate price level and aggregate output?

a. There is a decrease in households’ wealth due to a decline in the stock market (9 points).
A decrease in households’ wealth will reduce consumer spending.  Beginning at long-run macroeconomic equilibrium, E1 in the diagram, the aggregate demand curve will shift from AD1 to AD2.  In the short run, nominal wages are sticky, and the economy will be in short-run macroeconomics equilibrium at point E2.  The aggregate price level will be lower than at E1, and aggregate output will be lower than potential output.  The end result is people will have less money to spend.
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The economy faces a recessionary gap.
As wage contracts are renegotiated, nominal wages will fall and the short-run aggregate supply curve will shift gradually to the right over time until it reaches SRAS2 and intersects AD2 at point E3.  At E3, the economy is back at its potential output but at a much lower aggregate price level.
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b. The government lowers taxes, leaving households with more disposable income, with no corresponding reduction in government purchases (9 points).

An increase in disposable income will increase consumer spending; at any given aggregate price level, the aggregate demand curve will shift to the right.  Beginning at long-run macroeconomic equilibrium E1 in the diagram, the aggregate demand curve will shift from AD1 to AD2.  In the short-run, nominal wages are sticky, and the economy will be in short-run macroeconomics equilibrium at point E2.  The aggregate price level is higher than E1, and aggregate output will be higher than potential output.  So, basically if the government lowers taxes that equates to more spending money for the general population.
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The economy faces an inflationary gap.
As the wage contracts are renegotiated, the nominal wages will rise and the short-run aggregate supply curve will shift steadily to the left over time until it reaches SRAS2 and intersects AD2 at point E3.  At E3, the economy is back at its potential output but at a great deal higher aggregate price level.
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What are some factors that shift the aggregate demand curve?  I created a table to explain these.
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3.   Define any key terms that you feel are important in answering the following question as they are defined in the textbook and explain, in your own words what those definitions mean, and then thoroughly analyze each situation to answer the following questions.  

An economy in a hypothetical country is in long-run macroeconomic equilibrium when each of the following aggregate demand shocks occurs. What kind of gap—inflationary or recessionary—will the economy face after the shock, and what type of fiscal policies, giving specific examples, would help move the economy back to potential output?

My definitions:
aggregate demand shocks – is the total amount of demand shifts in prices of products and services
inflationary gap – is the distance between real gross GDP and real GDP.
recessionary gap – this means our economy is operating below our full-employment equilibrium; usually due to inflation and a higher unemployment rate.
fiscal policies – these are types of policies that influence our economy at the macroeconomic level.

* Note: the grouping of A and C, and B and D.
a. A stock market boom increases the value of stocks held by households (5 points).

As the stock market booms and the value of stocks held by households’ increases, there will be an increase in consumer spending; this will shift the aggregate demand curve to the right.  

The economy will face an inflationary gap.
Policy makers could use contractionary fiscal policies to move the economy back to potential output.
c. Anticipating the possibility of war, the government increases its purchases of military equipment (5 points).

If the government increases its purchases of military equipment, the aggregate demand curve will shift to the right.  

The economy will face an inflationary gap.  
Policy makers could use contractionary fiscal policies to move the economy back to potential output.  The government would need to reduce its purchases of non defense goods and services, raise taxes or reduce transfers.
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b. Firms come to believe that a recession in the near future is likely (5 points).
If firms become worried about a recession in the near future, they will reduce investment spending and aggregate demand will shift to the left.  The economy will face a recessionary gap.  Policy makers could use expansionary fiscal policies to move the economy back to potential output.


d. The quantity of money in the economy declines and interest rates increase (5 points).
As interest rate rise, investment spending will decrease and the aggregate demand curve will shift to the left.  

The economy faces a recessionary gap.
Policy makers could use expansionary fiscal policies to move the economy back to potential output.
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4.  The table below shows the United States components of M1 and M2 in billions of dollars for the month of December in the years 1998 to 2007 as published in the 2008 Economic report of the President.  

	Year
	in circulation
	checks
	deposits
	Money market funds
	Time deposits smaller than $100,000
	Savings deposits
	M1 


	M2 


	Currency in circulation as a percentage of M1


	Currency in circulation as a percentage of M2



	1998
	460.5
	8.5
	626.5
	728.9
	952.4
	1,605.0
	
	
	
	

	1999
	 517.8
	 8.6
	596.2 
	819.7
	956.8
	1,740.3
	
	
	
	

	2000
	 531.2
	 8.3
	 548.0
	908.0
	1,047.6
	1,878.8
	
	
	
	

	2001
	 581.2
	 8.0
	 592.6
	962.3
	976.5
	2,312.8
	
	
	
	

	2002
	 626.3
	 7.8
	 585.6
	885.3
	896.0
	2,778.2
	
	
	
	

	2003
	 662.5
	 7.7
	 635.9
	 777.4
	818.7
	3,169.1
	
	
	
	

	2004
	 697.6
	 7.5
	 671.2
	 697.1
	829.9
	3,518.3
	
	
	
	

	2005
	723.9
	7.2
	643.4
	699.9
	995.8
	3,621.4
	
	
	
	

	2006
	748.9
	6.7
	611.4
	799.4
	1,170.4
	3,698.6
	
	
	
	

	2007
	759.0
	6.3
	599.2
	976.1
	1,216.8
	3,889.8
	
	
	
	


For a., b., c., & d., you may insert a completed Excel spreadsheet with your answers, if you wish.

a. Complete the table by calculating M1 (5 points), 

b. Calculating M2 (5 points), 

c. Calculating currency in circulation as a percentage of M1 (5 points) , and 

d. Calculating currency in circulation as a percentage of M2 (5 points).  




	Year
	in circulation
	checks
	deposits
	funds
	smaller than $100,000
	Savings deposits
	M1 


	M2 


	as a percentage of M1


	as a percentage of M2

	1998
	460.50
	8.5
	626.5
	728.9
	952.4
	1,605.0
	1095.50
	4381.8
	42%
	10.8%

	1999
	 517.80
	 8.6
	596.2 
	819.7
	956.8
	1,740.3
	1122.60
	4639.40
	46.1%
	11.1%

	2000
	 531.20
	 8.3
	 548.0
	908.0
	1,047.6
	1,878.8
	1087.50
	4921.90
	48.8%
	10.8% (10.79)

	2001
	 581.20
	 8.0
	 592.6
	962.3
	976.5
	2,312.8
	1181.80
	5433.40
	49.2%
	10.7% (10.69)

	2002
	 626.30
	 7.8
	 585.6
	885.3
	896.0
	2,778.2
	1219.70
	5779.20
	51.3%
	10.8%

	2003
	 662.50
	 7.7
	 635.9
	 777.4
	818.7
	3,169.1
	1306.10
	6071.30
	50.7%
	10.9%

	2004
	 697.60
	 7.5
	 671.2
	 697.1
	829.9
	3,518.3
	1376.30
	6421.60
	50.7%
	10.9% (10.86)

	2005
	723.90
	7.2
	643.4
	699.9
	995.8
	3,621.4
	1374.50
	6691.60
	52.7%
	10.8%

	2006
	748.90
	6.7
	611.4
	799.4
	1,170.4
	3,698.6
	1367.00
	7035.40
	54.8%
	10.6%

	2007
	759.00
	6.3
	599.2
	976.1
	1,216.8
	3,889.8
	1364.50
	7447.20
	55.6%
	10.2%


e. Examining the following three charts and your completed table, what trends or patterns in:


- M1, 


- M2, 


- currency in circulation as a percentage of  M1, and 


- currency of circulation as a percentage of M2 do you see (5 points)?  

M1 consists of currency in circulation, traveler’s checks, and checkable deposits.  M2 consists of M1 plus money funds, time deposits, and savings deposits. 

From 1998 to 2007, there is no obvious trend in M1.  M1 grew by $268 billion (or 20% from 1998 to 2007) but was essentially stable from 2002 to 2007.  There is, however a clear upward trend throughout the period for M2, which grew by $3065.9 billion (or 59% from 1998 to 2007).  Currency as a percentage of M1 grew from 42 percent to over 55 percent from 1998 to 2007, but currency as a percentage of M2 relatively constant varying 10.5% in 1998 to 10.2% in 2007 (reaching a max amount of 11.1% in 1999).




f. What might account for these trends (5 points)? 

The increase in currency as a percentage of M1 could reflect increased use of credit cards, causing a reduction in the importance of traveler’s checks and checkable deposits.  Yet, since currency as a percentage of M2 did not change, it could also reflect a shift from checkable deposits to money funds, time deposits, and saving deposits.
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5.  Considering the flow of money throughout a country’s economy and the importance of the proper level of money supply, answer the following questions.

a. Discuss how money is created within the banking system (9 points) 

Banks can generate revenue through their lending activities by increasing or decreasing the deposit component of the money supply.  Banks can create money by lending it (or loans). Bank loans are made from their own customers and bank members in the form of deposits that they make in and to their checking or savings accounts. The loan basically becomes a new deposit and the bank holds a small percentage of that new amount (that has been deposited) in reserve and then lends the remainder to another customer. If they do this over and over again, money builds fast 
.

b. Discuss how in the United States, the Federal Reserve uses monetary policy to control the money supply. (9 points)

How the Fed uses monetary policy to control money supply is by determining discount (normally 1% above the federal funds rate), interest rate, and open market operations (purchase or sale of government debt).  When a bank falls short of the reserve requirement, they can borrow funds from banks with excess reserves.  The FED sets a target federal funds rate and then uses the open market to achieve that target.

6.  Your spouse, or someone else very close to you, has brought you a magazine article on the economy that has the following five graphical depictions of the state of our economy.  Knowing that you have just completed an economics course at Kaplan, they ask you what each one means.  For each of the following graphs, write a paragraph briefly, but thoroughly, explaining what you would tell that person about what that graph means and why it is important. (Each paragraph is worth a maximum of 5 points, for a total of 25 points.)

1. Gross Domestic Product
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Explanation:

Gross Domestic Product (commonly referred to as just GDP) is one of the most important metrics because it is used to define the overall health of a country.  Low GDP means a country isn’t doing well, whereas high GDP means a country’s economy is booming.  Basically, it represents the total dollar of all goods and services produced over a specific time period, usually a year in the United States.  GDP is really a composite of C+G+I+NX: "C" is equal to all private consumption, or consumer spending, in a nation's economy. "G" is the sum of government spending.  "I" is the sum of all the country's businesses spending on capital.  And, "NX" is the nation's total net exports, calculated as total exports minus total imports. (NX = Exports - Imports).

If we look at this chart, we can see the GDP has been steadily climbing from 2005 to the beginning of the recession in 2008 3rd quarter.  There is a dip in GDP, most likely due to people buying less, meaning the demand and purchase of goods within our country sagged.  You can see that between 2008 4th quarter and 2009 2nd quarter we were in an obvious recession (a general slowdown of economic activity).  However, since the end of the 2009 2nd quarter, there has been a steady climb in our GDP, which is great for the economy.  On a personal note, if someone were to say that a President has not helped our GDP, but reduced it, you could easily refer to the data (like these charts) and assess the facts for yourself.  Other important factors that impact GDP:  are government expenses that are always increasing, investments aren’t always increasing though, and imports are higher than exports.


2. Components of Gross Domestic Product
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Explanation:

Because GDP is such an important metric, and its composite elements thereof, let us briefly review each component (C+I+G+(X-M)).

C, Consumption – is basically durable goods, non-durable goods, and services.  Some examples are our food, rent, our clothing, and jewelry.  Consumption is usually the largest component of our GDP.

I, Investment – is just what it sounds like, investing in equipment for manufacturing or building materials; also spending by households on new houses.  Since I am in IT, purchasing software is another good example of investment.

G, Government (spending) - the government has their own component as not to skew the statistics of the other metrics.  The reason this is important is that the government can have extremely large purchases (budgets) like the defense budget, which include programs like Social Security and Medicare/Medicaid. 

X, Exports – represents our gross exports – this includes all our goods and services that are being exported, a metric is added for total exports, and reported on in the GDP.

M, Imports – represents our total imports.  Once again these are goods and services, but now, these are imported.  You can see from the equation that imports are actually subtracted to keep the metric from being lumped into the domestic metric.

So, if we look at the chart given, these definitions directly apply to each component in GDP.  Each of them is important, because each of them represent the health of country.

3. Taxes, Surpluses/Deficits & National Debt
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Explanation:
Let’s start by a quick definition of what these mean. Taxes are small financial charges by state and federal governments that go to services like infrastructure (like roads), public employees, education, and the healthcare system (among many other services).  Government surpluses and deficits are basically when government budgets are affected positively or negatively.  A surplus means their spending is less their revenue.  And a deficit is just the opposite; meaning their spending is higher than their revenue.  National Debt is a combination of all its deficits subtracting its surpluses.

But are these important?  Well taxes are very important because they pay for most of the public services we use.  As the national debt balloons (because of growing deficits), tax increases are sure to follow.  This is important to know and understand as this affects inflation and potentially throwing the country into a recession.  As the national debt is concerned, it is possible for our government to borrow money from the FED to help reduce the deficit; though this is only a short-term solution.  Economists believe that the markets themselves drive successful economies, and we should wait for the market to level out, or for equilibrium.  And many believe, that adding to the national debt (without guaranteed ways to provide surpluses), is a sure way to doom the economy and tax payers of the future

4. Consumer Price Index
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Explanation:

The consumer price index is an important metric that measures changes in the price level of consumer goods and services purchased by United States households.  It’s a composite variable that contains price data and weighing data.  CPI is used as an economic indicator, a deflator of other economies, as well as a means for adjusting dollar values.  CPI covers many groups. A few examples of what CPI includes are: clothing, renting, medical care, and recreation. Why is CPI even important?  CPI is very important because it is the leading indicator of inflation (inflation meaning increase in prices and decrease in the buying power of your money).  Inflation is a huge concern because a growing inflation rate is directly related to falling into a recession (and CPI is a good indicator of this).  Why would inflation happen in the first place?  Many variables can be a factor in inflation, but a few major ones are higher production costs (in general), higher energy prices, and of course, our national debt.

















5. Unemployment Rate
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Explanation:

The unemployment rate is such a hot topic now (in this Presidential election year).  But what is unemployment to begin with?  Unemployment is basically the number of people looking for work with the denominator being the actual workforce.  The unemployment rate has become a highly analyzed metric, because it also (like GDP) is a good factor of a healthy economy.  A low unemployment rate usually means an economy is doing well, whereas a high unemployment rate equates to a poor economy. A quite common phenomenon is during recessions, unemployment rates tend to go up; just like you can see in this chart.  So what happens during recessions that cause the unemployment rate to climb?  Due to fluctuations in the market, businesses lay off people, businesses outsource jobs (to save money), company attrition happens, the demand of products tend to go down, thus fewer people are required to facilitate the sale of those goods or services.  One thing that many economists believe is that outside intervention (especially by the government) is really a bad thing, as this discourages companies to hire.
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